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Cutch-up Exam of English for Mechanical engineering

Activity one: say either the statements are true or false?

» Fulerum is a metal bar on which a wheel turns......... Y

*» Division is splitting into equal parts..........cccccooee..

* Multiplication is a part of a whole.......ccconovceenns

* Wedge is a metal pin...............

= The body is homogeneous i.e. it is isotropic.......... T

e Yield point is the application of maximum load.............. o T

* Screw is used for holding things together............ e ;

e Infinitesimal element is a very small and tiny value...................

Activity Two: Site the types of simple machines, with the function of each one

L] R LT SEeriaEs i en R R B LT T T Brrmernranes 0 N e i o R FEE R S AR R e ane
RaREd - AaEstrinnr A Esiag S T T T T e tanekrdinndnarranasng SErdmEErnaEEERAAsEs L T TR R R P T T FEEEE R R AR R A A R CEEe
L]
L LT PR daEritrdsRrdanannaans PEteEErTERERIAREEELaEE L L LR S L e P TR T T T T PPy T T T T R LT T FEEEIEE T PP T T e T
............ |a-.,|1...-1........-u---|.h-q......-...uuu.,u-.-.-.-n.-n....----nu--nua---a--n-------n.--1.-.-.-.-....uu-u-uu".n"....-uuu.n|.|11.-..-..............u---nu
* dabbsamnnnnranng T T T T T T T T PP Ty T T PR T P e T T B T T P bhrmm s R REsanE T T T T F T T aassssana
B T T T T FRrmEmi nnnE e T T T T TR T T T R P T T T TP PP P Biddmannadasaass Fhddmsrennnraasns FdamserassraaaEaranans T T T T P TP
. FetdEEETIEERE AR ESaE FetsmmrrasRasaaEag R e R L L L PR PR FEEEbEnanradnn e dserrrmanriIanEsgaEs L T T T AR R E R R AR R ERE AR R pramans
------- Beaa +..........au-H.a11|..-.-.....----u,aq,..|.+...“.......-nn-quu"u".“i..-r-------nH..------ua--+|.-..-.-....--a---ua,.-..-1....-1...u---.,H.""..-."....---u-
L ]
AR ad R s abds sedrmmnrnnn EEE FEERsand R T T T T T T T T SRddnsaniiannnan T T TP T P T T T T T
CEETE - - saaas e L T T E P T ) LR e L LT T T T T ey damnn



Activity 3: define the Jollowing words

* Geometry:............ TR :

----------------------------------------------------------
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Activity 4: fill in the 8aps using the following words:

Reinforced - tension - tensile - compressive,

Concrete has relatively Bigh ..........orueeerensnsiiins strength, but much lower

......................... strength. For this reason is USURLY, vosovssusanassivaveniais oo EWEER

materials that are strong in.........................
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Activity 1: write either the statements are true or false.
* Civil engineering is the oldest engineering discipline /( ./\.L/ﬁhﬂ
» Concrete is resistant to earthquake .;'_.-:J.’E’:i’
e Acute triangles have all angles obtuse frﬁzfﬂu
* All parallelograms have lines of symmetry Erﬂ."f:uﬂw

* A mathematician who works in the fields of geometry is called
engineer...l..q.[5¢

* Aggregate carries the compression load E‘ML:;.
¢ Seismic buildings are structural designs to withstand earthquake..?:._ﬂ.btt

¢ Right angle is an angle equal to 20° ....T:.:’.'I;H{L.."......

Activity 2: answer the following questions
1/ what is the average of 10, 3 and 11 (do the necessary operations)
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2/ Site two suh_ .disciplines of structural engineering,
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3/ Write this operation as it is read
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Activity 3: define the following words
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Activity 4: fill in the gaps using the JSellowing words:

Reinforced - tension - tensile - compressive.

Concrete has relatively high .,.Lfcﬁ-]?hjb,ﬂ;t&iﬁi.kf..stTEngth, but much lower
= ~ - )
,/Zé-m.-:' s (8 SRR strength. For this reason is usually /{u‘q..q. .f.-r.s'n*'l..i.'.:‘..:l.....with

materials that are strong in...Zf;:HAL'LW}:L.



